Csum ptTrack [ dn,dp/ GeV

Ratio to CDF

N
o

w
(6)

w
o

N
ol

N
o

=
o1

10

0.5

1960 GeV ppbar Underlying Event

- [T 1T 1T 1T ] rrrr [ I =
- Average X(p ) vs p'Tead (nl<1,p >05 GeV) .
- m  CDF .
— —#4— Pythia 6.427 370 s
- Pythia 6.427 default -
— ¥ Pythia 6.427 pro-q2o —
L m—
— . p—
- u ]
N u |
L | _
L [ | |
- ] _|
— a " ]
- X ] —
N | P I I B | P I I B ]
: | T T T T | T T T T |:
N 4 |
| ......... [ N S T I N S T I N S T |
0 50 100 150 200

pT(Ieading jet) / GeV

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


